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3R 5 R BRI TE AT gk

v

[ WG / i EX: T3 CE A _
AR 2020F 10 A 28 7 flEs [ FI-GMAD-290 | [E3 | A
REREHE (om®) 100 7/ FRERZHER 0.1 BRI (%) 30.6% /<
BG(cpm) 80 ( TR 0.4 BEER T.36E-02 /7
R H TRaH 3 (cpm) 688 /< HRH TREBg/cm?) 9.37E-01
B
No. EIERr | RZE{Ecpm(Gross) [ RlE{Ecpm(Net) | FREFLHEB/cm?) | ERABEAUR s &
1 xXHF - 130 50 < 9.37E-01 ~AJLAyhe EEIB (R Yzone=> Gzone
2 xH - 100 20 < 9.37E-01 Albdyb- REEIE(EH) Yzone=>Gzone
3 X3 - 110 30 < 9.37E-01 HelmdE Rz (R3F) Yzone=>Gzone
4 x3H 100 20 < 9.37E-01 LA (K 3) Yzone=>Gzone |
5 XH 80 0 < 9.37E-01 BRETY7 (KH) Yzone=»Gzone
6 xH 80 0 < 9.37E-01 fRRTY7 (KH) Yzone=>Gzone
7 xH 100 20 < 9.37E-01 kT 7 (KH) Yzone=>Gzone
8 xH 130 50 < 9.37E-01 RARTY7 (K Yzone=>Gzone
9 xH 80 0 < 9.37E-01 RETU7 (XH Yzone=>Gzone
10 xH# 80 0 < 9.37E-01 ERT)7 (KH) Yzone=>Gzone
11 X 110 30 < 9.37E-01 BARTY7 (KH) Yzone=>Gzone
12 XFHF 110 30 < 9.37E-01 fRERTY7 (K3H) Yzone=>Gzone
13 xH - 100 20 < 9.37E-01 AT 7 (XKH) Yzone=>Gzone .
14 xH 80 0 < 9.37E-01 EERREE (RH) Yzone= Gzone
15 xKH 80 0 < 9.37E-01 FERREE(KH) Yzone=>Gzone
16 X3+ 80 0 < 9.37E-01 HRREE(KH) Yzone=»Gzone
17 xH 80 0 < 9.37E-01 HEERER(XH) Yzone=>Gzone
18 xH 140 60 < 9.37E-01 SEHIRESE (K3H) Yzone=>Gzone
19 3 - 80 0 < 9.37E-01 EEBREE (XH) Yzone=>Gzone —
20 FEELT - 100 20 < 9.37E-01 HRBREE (KH) Yzone=>Gzone
21 R"AF - 110 30 < 9.37E-01 HRBEE (KH) Yzone=>Gzone
22 IFS * 80 0 < 9.37E-01 ERREE (KH) Yzone=>Gzone /|
23 XH 80 0 < 9.37E-01 FEIEER (K IE) | Vo= BROBEROTNEEARES
24 xH 80 0 < 9.37E-01 TEME CKH) | ¥ ROEE RO
25 X - 80 0 < 9.37E-01 TE= (R RROBEROGNEEARER
26 x5 80 0 < 9.37E-01 EISEE (K 3f) | v mRoBEhOR =
27 x5 80 0 < 9.37E-01 TEIBE (K ) | vone=most hos EEHRER
28 EEn 710 30 < 9.37E-01 TEEE (K F) | one=BROBLADEVEBHRER
29 XH 80 0 < 9.37E-01 FEHEER (K F) [ Vones BROBEAOLLEBHRER
30 KH 80 0 < 9.37E-01 TEHEE (K H) | eone=Erosehon E2HREE
31 xH* 100 20 < 9.37E-01 TEEER (K3 | Veone= BROBEAOLNEEARER
32 xH 80 0 < 9.37E-01 TEME (KH) | ¥ FROBEADLL 3
33 X3t 80 0 < 9.37E-01 TEHE (K FH) | vone=AR0s L0 EBHRESR
34 X - 100 20 < 9.37E-01 -ﬁwi(x;.) Yzone=5ROBEhOLNEEHREE
35 WIERE 80 0 < 9.37E-01 TEBE (X F) | vone=mrosenomezizzs)
36 TFa - 80 0 < 9.37E-01 ERE (K F) | vone=BRrOSL0LNEERRER
37 I73ar - 80 0 < 9.37E-01 BT (KH) | vone=srosthos SE8RRS)
38 FEFUT 100 20 < 9.37E-01 FEEER (K 3) | one=BR0sthonL E2HRRE
39 B 80 0 < 9.37E-01 BEZHSE (K JF) | Vo= BROBEROLLEEARES
40 X3 80 0 < 9.37E-01 BERHSR (R Hh) | vone=iROBthoh BEARER
41 X3 100 20 < 9.37E-01 BEZHSR (K Jf) | VoonesBROBENOLLERARER
42 B3 120 40 < 9.37E-01 BEZHSR (K FE) | Veones BROBENOGLEEARER
43 xH 80 0 < 9.37E-01 BEIRSE (R JE) | Vone=BROBEAOLLEEARER
44 EI « 100 20 < 9.37E-01 EEWE (R F) ERO%L "
45 FEELT / 110 30 < 9.37E-01 BRI (R 3f) | von mRosthou BERRES)
"=
REERT RIS~ FESR
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No. REREFT |l Ecpm (GROSS)| I Ecpm(NET) | HEELHEEBe/omd) | ERALULE s %

46 X - 80 0 < 9.37E-01 KRR (K JE) | venomonthon 7
47 XH - 80 0 < 9.37E-01 REESR () | o= RROBEROLLEEARES
48 EH - 80 0 < 9.37E-01 REEEE (R FF) | Vo= RROBEROBVEBARER
49 xH - 110 30 < 9.37E-01 REEEE (KFF) | Vo= BROBLAORNEEHRES
50 xH - 100 20 < 9.37E-01 AEAE (KH) | ren=BRobthonnEEHRES
51 XH - 100 20 < 9.37E-01 (REAZE (KFH) | one=BROSERORLERHRRE
52 xH 120 40 < 9.37E-01 KB (R JF) | VeneoBROBEAOGERHRER
53 EH - 120 40 < 9.37E-01 (REEEE (KFF) | one=BRosehon EBHRRKE
54 RO 80 0 < 9.37E-01 REATE (K FE) | Von=iRosehoh =
55 RO 110 30 < 9.37E-01 REEEE (KR FE) | o= BROBEnoknGEARER
56 B 110 30 < 9.37E-01 KEEE (R HE) | e PRobehobn EEHRER
57 JERAT 110 30 < 9.37E-01 R (R H) | o= nRoseholL EEARER|
58 XH# 100 20 < 9.37E-01 BE(KH) Vione= B ROBEROLVEEHREHE
59 xIH - 110 30 < 9.37E-01 B (EH) ROBERDA =
60 S0 - 100 20 < 9.37E-01 BE(XKH) Yzone= 5 ROBENOLVEEHRER
61 &0 - 100 20 < 9.37E-01 BE(XH) Yzone= BROBENOLNEEH RKE]

e
FIERTEERARA > SR
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;"ﬁI]EEI ZOZOEIOHZBEY,/.RIJE%S | F1-GMAD-290" } @%ﬁ’ﬁﬁ(%) 30.6% —
REE P [ FI-CDS—036 , ik (L/min) 1334 L~
EERE (D) 10 | BHBEYER )| 196 - HMEEREFE(om) 63.6 -
BG(cpm) 90 7 SHEEES 04~ BEER 3.35E-07
R TIRET 3 (cpm) 720 < < [ TFIR{EBq/cm?) 2.41E-05,
B
No. | #RERESFT | RIEfBopm(Gross) | RIiE{Ecom(Net) |Ze& kst MEmE(Be/om’)| HERANE S
1 HEEEDA 130 40 { 241E-05 / - HEIE (R3) | Vo= nROBEhORWEEHRER
2 REEED R 130 40 < 241E-05 7~ REE=E (XFH) Yzone=35 R 0B ENORNEIEH R

i
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R 5 S EAIE R

TR B T [ 2 EBARE bk, B, ham) i
A 5 [ 2020510)512857, HlEss | FI-GMAD=379_ < Hle®d | | = 7
{RHREE (cm®) 100 - TREGHE 0l o~ BRI (%) 31.6% <
BG(cpm) 90 < R LEIES 04~ BEER 1.32E-02 /—
R T IREHEEE (cpm) ’ 720 BH FREB/om’) 9.49E-01 /7
B
No. PRER R HI%E fEcpm(Gross) | il {Ecpm (Net) FEERBEB/om’) EERA MR B =
1 B . 100 10 < 9.49E-01 Aok RESRRE, U, UB) Yzone=>Gzone
2 A 130 40 < 9.49E-01 LAk RERIE (R, B, 85 Yzone=>Gzone |
3 [E 100 10 < 9.49E-01 SRR (D, 2, 95 Yzone=>Gzone
4 EN 90 0 < 9.49E-01 SEEEE (T 26, 08) Yzone=>Gzone
5 BE v 100 10 < 9.49E-01 BRI T (R, B@, 1) Yzone=>Gzone
6 NEHE 110 20 < 9.49E-01 BERTYT (R, 2@, 185) Yzone=>Gzone
7 BE s/ 90 0 < 9.49E-01 BET)7 (RE, 2@, B5) Yzone=>Gzone
8 HNEE 90 0 < 9.49E-01 BRTU7 (R, B, 15) Yzone=>Gzone
9 7o KR 130 40 < 9.49E-01 BRIV 7 (RE, 2@, B5) Yzone=>Gzone
10 BE 110 20 < 9.49E-01 BiRTY 7 (R, B, 1235) Yzone=>Gzone
i1 BE - 90 0 < 9.49E-01 BT 7 (R, B, 85) Yzone=>Gzone
12 B - 100 10 < 9.49E-01 BRTY 7 (R, B4, 185) Yzone=Gzone
13 BE 100 10 < 9.49E-01 BTy 7 (B, B, 185) Yzone=>Gzone
14 AAVF ’ 100 10 < 9.49E-01 BTV 7 (R, B, 85) Yzone=>Gzone
15 HSO - 130 40 < 9.49E-01 [Bxzy7 (em, =@, 1 Yzone=>Gzone
16 R - 100 10 < 9.49E-01 [mxTy7 Em, 2m 1) Yzone=>Gzone
17 R 90 0 < 9.49E-01 |mxy7 Em, 2m, B8 Yzone= Gzone
18 A 90 0 < 9.49E-01 |mxy7 Em, 2m, 88 Yzone=>Gzone
19 & 90 0 < 9.49E-01 BRI 7 (K. 5@, #5%) Yzone=>Gzone
20 [F 130 40 < 9.49E-01 KT (R, 2, 85) Yzone=>Gzone
21 K 120 30 < 9.49E-01 BRI 7 (R, 2, 85) Yzone=>Gzone
22 K - 90 0 < 9.49E-01 BRTY7 (@, 8, #5) Yzone=>Gzone
23 K 90 0 < 9.49E-01 BKTYT (R, 2@, §5) Yzone=>Gzone
24 K- 100 10 < 9.49E-01 BRTU7 (B, B, 185 Yzone=>Gzone
25 B 100 10 < 9.49E-01 BRBEE(ED, 2@, 18) Yzone=>Gzone
26 BE 100 10 < 9.49E-01 SRBEE(EE, @, B8 Yzone=>Gzone
27 BE 90 0 < 9.49E-01 BREEE (KT, @, 198) Yzone=>Gzone
28 BE 120 30 < 9.49E-01 BRGES (D, 2@, 85 Yzone=> Gzone
29 BE 110 20 < 9.49E-01 SRBEE (RT, BE, 1828) Yzone=>Gzone
30 BE 90 0 < 9.49E-01 FRRES (T, BE, 88) Yzone= Gzone
31 BE 90 0 < 9.49E-01 FRBES (KT 2@, 88 Yzone=>Gzone
32 K/ 90 0 < 9.49E-01 FRBEE (D, RE, 98) Yzone=>Gzone
33 K- 90 0 < 9.49E-01 AREEE (D, BE. 938) Yzone=>Gzone
34 [; 3 90 0 < 9.49E-01 BRRIEE (KT, BE, E8) Yzone=>Gzone
35 [ P 90 0 < 9.49E-01 BREES (KT, 2@, 98) Yzone=Gzone
36 k¢ 90 0 < 9.49E-01 ERRIE (RE, 2, 318) Yzone=Gzone
37 K 90 0 < 9.49E-01 |FasEsGm 2o 08) Yzone=> Gzone
38 NER(A) - 90 0 < 9.49E-01 EHITHE (R, B, H18R) | Yeone=iSRasho L EEHRRS
39 NEH(A) - 90 0 < 9.49E-01 SIS (R, B, 5) | Voo R0S t hOLLBEHRRR
40 HER(A) - 90 0 < 9.49E-01 FHEINE (R, B, (252) [ Yzone= S ROBEhOLLRENRER
41 B (A) / 110 20 < 9.49E-01 IS (EE, 2, 85%) BROBLhONNE B
42 2ERE(A) - 100 10 < 9.49E-01 S (Rm, Bm, iR EhoBsL
43 B 90 0 < 9.49E-01 RS (Rm, B, 85%) ROBL ®
44 IFPAVRAYTF ., 90 0 < 9.49E-01 EHSLRE (R, B, 85) | o= BR0st hOLLREHRER
45 SHMNEE / 130 40 < 9.49E-01 TSR (BRm, B2, 18%R) | V- 7 thoil

w5
PREERTERIRAE A » RSB

v
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IR G R BRI T AL 8k

No. IR HEfEcpm (Gross) | HIEfEcpm (Net) FEELHBEBa/om?) EERA 2 RE % &

46 B 100 10 < 9.49E-01 SHLE (RE, 2w, 85 SEhOLLVEEHREN
47 B - 90 0 < 9.49E-01 S (RE, @, 85 ROBEROBL m
48 BE 120 30 < 9.49E-01 SHLIE (R, B, §138) | Yoo SR0sthotl %
49 BE 90 0 < 9.49E-01 FHLEE (R, B, 185) Behon. =
50 BE - 100 10 < 9.49E-01 EHSLE (R, B2, 1R3R) | Yaone=s £howl 5
51 B 110 20 < 9.49E-01 EHSTARE (B, B, 1B58) | Voo BROBEROLLREHARER
52 B - 90 0 < 9.49E-01 ELRE (Rm, B@, 85 | Vo= BROBLhOGNETHRER
53 B 90 0 < 9.49E-01 EHTIE (R, B, §5) | Yore=BRosthotl ™
54 B - 90 0 < 9.49E-01 EHEIRE (R, B, 158) EROBEROLL "
55 BE 90 0 < 9.49E-01 FHESE (B, B0, 852) | Vone= 5 ROBLLOLLEEHRES
56 AAYF 110 20 < 9.49E-01 FHEISE (FE, 2@, BE) | onesBROB OGN EEARES
57 B - 90 0 < 9.49E-01 FHSLE (R, B, (50 | Y2one=BROBEhOLLEENRER
58 BE 90 0 < 9.49E-01 EHSTE (EE, 2@, 125) | o= BROBEROLLEEHRESR
59 BE 110 20 < 9.49E-01 ST (B, 2, 185) | Vo= BROBLROLLBEHRER
60 K 110 20 < 9.49E-01 S (T, 2, 85 | Vo ERosthonugERRE
61 [£S 110 20 < 9.49E-01 HHEE (Em, 2@, BR) | one=BROBThOLVEERRES
62 K. 90 0 < 9.49E-01 EHSEE (E, 2@, 85) | Vo= BROBELOLVBEHRER
63 K/ 90 0 < 9.49E-01 FHSTIRE (BR, B2, 95R) | Yone= 5RO B HhOLWMIEHRRS
64 FERTER = (FRIEER)~ 100 10 < 9.49E-01 R (R, B, 858) | Vo= BR0BthOLLVEERRER
65 K- 110 20 < 9.49E-01 LN (Rm, 2w, B5) BROBENOLNEERRER
66 K- 100 10 < 9.49E-01 EHEIRE (R, B, §B5) | Yoe=BRosthoLLVEERRER
67 : K 90 0 < 9.49E-01 EHEE (R, B, 1858) | Vo= BROSELOULBEHRER
68 k- 90 0 < 9.49E-01 LIS (R, B, 1858) [ Vone=>BROBELOBLEEHRER
69 o EhE (4} - 90 0 < 9.49E-01 LIS (@, 2@, BE) | one=BROBEROLVHEHRER
70 B - 90 0 < 9.49E-01 FHSTEE (@, 2@, B5) | Vo= BR0BEhouNE ™
71 NEREGE) . 90 0 < 9.49E-01 FHIE (R, BT, (85) | Vone=BROBEhOGL M
72 [E 90 0 < 9.49E-01 EHSTINE (Em, B, 185) | Yoo BROSEROLLREHRER
73 7 90 0 < 9.49E-01 EHEiLE (R, 2 E, B8) | Yoo FROSLROLLE %
74 K 90 0 < 9.49E-01 EHTEE (R, 2, 1258) | Yone=BR0SLhOULEEHREY
75 £ 100 10 < 9.49E-01 FHSTIRE (BRI, B2, {858) | Yoone=iSR0E HhOLLWEEHRES
76 B/ 100 10 < 9.49E-01 ESIR (R, Bom, (R58) | Yeone= BROBEROLLVREARER
77 K 90 0 < 9.49E-01 B (R, B, I35 | Voo BROBEhOLLEEHRER
78 EE 120 30 < 9.49E-01 EIRE (R, B, 1950) | Veone= B RO B L RO LV EEHRES
79 5 90 0 < 9.49E-01 ESIRSE (PR, B, 1858) BEROBEROAL w
80 R < 90 0 < 9.49E-01 ESIRE (PR, S, #15R) BROBLhOLVEEHRRS
81 k- 90 0 < 9.49E-01 BEIRE (M, B2, 1858) | Yzone= R OBLROLLEEARES
82 . 90 0 < 9.49E-01 SIS (BRTE, B2, 1852) [ Yzonem 5006t honL EEHRRS
83 N 90 0 < 9.49E-01 EEIRR (FEi, B0, 1958) | Yeone= R OB hOLLEENRER
84 - 90 0 < 9.49E-01 BSIRE (BRE, B2, 1858) | Yoone= 5 R0 B th OB EEH RS
85 BE 90 0 < 9.49E-01 REAR (EET, 227, 1858) | Yoone=2 520t hOLLEEHRESR
86 B - 90 0 < 9.49E-01 VKRR (FRE, BEE, 835) | Yeone=is RO EROGL

87 - 90 0 < 9.49E-01 (RESSE (R, B4, 1852) | Yeone= 520 BthOLLEEHRESR
88 BEQARAAYF < 90 0 < 9.49E-01 PREASE (ERE, B2, 1258) | Yoone= R 0B thoBLEEH RS
89 B - 90 0 < 9.49E-01 REIE (R, 2, 1358) BROBLROUL =
90 BE ~ 90 0 < 9.49E-01 (REASE (FEE, B2, 1853) | Yrone= S ROBENOLLREHRRE
91 BE 120 30 < 9.49E-01 {REAZE (R, BET, 25%) HEhotl )
92 B¥ 100 10 < 9.49E-01 KRS (R, B2, 1850) | Yrone= B ROBEhOLLRENRER
93 BE 100 10 < 9.49E-01 YREIZE (PR, BRTE, 1B93R) BROBEROBL "
94 BE - 90 0 < 9.49E-01 PREIZE (PR, B3, 1953) BROBELOBL ®
95 B / 90 0 < 9.49E-01 PREASE (R, BT, 15R) HhOBLNE "

&3
RIS EERAR A > RS E
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3R 5 R R TE AL AR

REELFEB/om’)

No. R E AT HRIFEEcpm(Gross) | RIEEcpm (Net) EEBRAV R i =

96 BE 90 0 < 9.49E-01 VREAE (PR, B2, 1RER) FROBLROBL =
97 B 120 30 < 9.49E-01 TREASE (R0, BEE, 1952) | Yeone= A0S LA OLVIEHRER
98 K- 90 0 < 9.49E-01 RERE (R, 6, 185) | Yeonom BROBEROGLEEARER
99 K - 100 10 < 9.49E-01 TREAZ (R, BE, 1R ) | Yeonem BROB LhOLLEEHRER
100 K - 90 [1] < 9.49E-01 REA (FE@, B2, 195) | Yeone= B R0 B thO LV EEHRER
101 K- 100 10 < 9.49E-01 RERE (R, B2, 1B5) | Yeorom BROBUAOGLREARER
102 K 90 0 < 9.49E-01 (RFAE (FRT, B2, 1852) [ Yoone= BROBEhOLLEEHREE
103 K- 90 0 < 9.49E-01 REAE (FEE, B, 35 | one=BR0htho LVEERRER
104 K - 90 0 < 9.49E-01 REAE (R, B2, B3 | Voonom BRDAEhOLLEEHRER
105 K, 100 10 < 9.49E-01 REAE (R, B, 1950) | Vo= BROBEhOGLEERRER
106 B 90 0 < 9.49E-01 A E (R, B, B [ BROBEhOLNE 5
107 BE -~ 90 0 < 9.49E-01 2 (R, B, #E) [ BFROSThOLL ]
108 BE 100 10 < 9.49E-01 A (BRE, B8, #R) [ tHhoml ]
109 B 100 10 < 9.49E-01 HE(RE, B, B | FROBEhOLL

110 B 7 110 20 <{ 9.49E-01 A (R, B2, f58) | Vo= B 0B L hOGLBEHRER
111 B 90 0 < 9.49E-01 A (R, B, 5) | e BROBEROGLEEARER
112 K_< 100 10 < 9.49E-01 A (R, 8. 1#5%) BROBEROGL "
113 K~ 100 10 < 9.49E-01 A (R, B4, HR) BROBEROGL

114 AAYF - 90 0 < 9.49E-01 B (B, B, 1858 | Vo= R 0B L hOGLEEHRER

L~

w5
PREERT R AR A~ FES R
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